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Introduction
This contribution proposes text included within the Chapter 7 comparison of M2PA and M3UA while being used between STPs of draft TR 29.801.
7
Comparison between M2PA and M3UA while being used between STPs
7.1
Advantage and disadvantage of M2PA


M2PA is a kind of peer-to-peer protocol;  it keeps MTP3 as a layer 3 protocol and just replaces the signaling transport protocol from  the  TDM to IP. 

Advantages compared with M3UA :

· It will use the changeover function in MTP3 level to keep the network reliable. When using protocol stack MTP3/M2PA/SCTP/IP, if the connection between STPs is broken, the MTP3 function changeover can find an alternative route through another STP without losing any message.
· It will reuse the maintenance manner of MTP3.
· It will simplify the interworking between IP  and TDM signaling link.
Disadvantages:
-     using M2PA needs MTP3 in the upper level, the MTP3 requires a message body length less than 272 bytes. If the message is too long, it must be segmented in MTP3 level. 
7.2
Advantage and disadvantage of M3UA

Advantages:

The use of  M3UA has already been defined in 3GPP specifications. Vendors have already support M3UA for SS7 over IP within 3GPP. 
Disadvantages:
· M3UA is designed for SG, so it fits for accesses to the SS7 network as IP SP. For large networks where STP are necessary to use of M3UA is not very suitable between STPs without any improvement.
· A traditional SS7 network has the function of changeover and changeback so it will keep the link reliable, but in a M3UA network, if the connection between STPs is broken, M3UA does not have changeover and changeback mechanism to allow alternative routing through another STP without losing any message.
